INSTALLATION INSTRUCTIONS
FOUR POSTS ADJUSTABLE DISTRIBUTION RACK

BELDEN

SENDING ALL THE RIGHT SIGNALS

For your safety, upon receipt of your Distribution Rack, read this instruction sheet carefully before
starting any installation and assembly.

This Distribution Rack system must be anchored securely to the floor in order to minimize the potential

of accidentally tipping the unit during equipment installation. Anchoring and selection of hardware should be
performed by qualified personnel only. Anchoring hardware should be a minimum of 5/8 diameter.

.375" SQUARE
A MOUNTING HOLES

RACK UNITS
IDENTIFICATION
ON EASH RAIL

XDR8419-3M62836
BELDEN ADJUSTABLE RACK 84'H
MATERIAL: STEEL
COLOR: BLACK
FINISH: DURABLE POWDERCOAT TEX PPG PCFZ90114
MAXIMUM LOAD CAPACITY 1500 LBS (680 KG)
WHEN LOAD IS EVENLY DISTRIBUTED.
POSTS WITH .375" SQUARE HOLES FRONT/REAR.
5 ASSEMLED RACK PROVIDES STANDARD
; 19" MOUNTING SPACE,
L ]| 3'_5]0_ L 5 i 45 USABLE RACK UNITS.

|
—28.00 MIN, —~] T 20,25——|

36.00 MAX.

NOTE: MODEL IN 3-D SIMULATION.
FRONT VIEW COLOR FOR VISUALIZATION PURPOSE ONLY

BEI'D EIN

THIS DFEAWING AKD ALL INFORMAT DN CONTAINED HEREIN [ THE FROFERTY OF BELDEN, ANY WSE, COFY OF
REPROOUCTION OF THE WATERIAL WITHOUTWRITTEN PERUIESION OF BELOEN S PROKIBITED.

XDRE419-3M62836
XDR RACK

37.50 REF APPROVED BY: DRAWING AUTHOR: jop

40.00 REF AE:JTS;Angng: Sheet2 of 7 [B
BOTTOM VIEW : o ITT

[REV] DESCRIPTION [ BY [ DATE SCALE: 332 | Datemons | SUBMITTAL

. 5 T 1

Visit our website at www.Belden.com Page 1 of 7 02/03/15



http://www.belden.com/

INSTALLATION INSTRUCTIONS
FOUR POSTS ADJUSTABLE DISTRIBUTION RACK

This page mtentionally lett blamnls

Visit our website at www.Belden.com Page 2 of 7 02/03/15



http://www.belden.com/

INSTALLATION INSTRUCTIONS
FOUR POSTS ADJUSTABLE DISTRIBUTION RACK

Before Un-packaging your Four Post Rack read below.

This distribution rack is shipped unassembled in one package, banded and shrunk wrapped to a skid. An
assembly hardware package is provided in order to assemble the unit. In addition, a number of screws are
provided for mounting equipment.

Please make sure upon receipt of delivery that your packaging is intact. Inspect the packaging for any
noticeable damage. If there is damage, please notify the freight carrier immediately to file a damaged
freight claim.

Once you have inspected the packaging for any damage; carefully remove the
wrapping and banding from the skid and the packaging from around your rack
components and check all items received against the part list for XDR8419-3M62836

Before you begin, compare the packaged components received with the PARTS LIST below to
make sure all parts shown are included.

4 3 2 1
XDR8419-3M62836 PARTS LIST
ITEM QTY PART NUMBER DESCRIPTION NOTE

1 2 433-10675 84" SQ. HOLE POST - LEFT
2 2 433-10676 84" SQ. HOLE POST - RIGHT
3 2 433-9009N MOUNTING FOOT 19"
4 4 433-9010N 19" TOP ANGLE
5 2 433-20019 BOTTOM ANGLE- 1
6 2 433-20020 BOTTOM ANGLE - 2
7 2 433-20022 TOP ANGLE - 1

B 8 2 433-20023 TOP ANGLE - 2
9 2 433-20021 BOTTOM ADJUSTMENT CHANNEL
10 2 433-20024 TOP ADJUSTMENT CHANNEL
11 4 22513 LABEL EARTH GROUND NEAR GROUND STUDS

TOP ANGLE 12 24 92094 MS 3/8-16 x 1.00 WHIZ BOLT MOUNTING FOOTS, TOP ANGLES TO POSTS

13 24 94028 #10-32 KEP NUT FOR ADJUSTABLE CHANNELS
14 4 91265 #10-32 x 1/2 - PPH w/ WASHER FOR TOP ANGLE
15 4 94088 1/4-20 KEP NUT FOR GROUND STUDS
16 80 91217 MS M6 X 16 MM PPH BLACK FOR MOUNTING EQUPMENT
17 80 94094 CLIP NUT M6 SQUARE HOLE FOR SQUARE HOLES IN POSTS

19" TOP ANGLE

BOTTOM ANGLE-1

TOP ANGLE-1

ADJUSTABLE CHANNEL,

BOTTOM GROPUND STUD

12 WHIZ BOLT)

MOUNTING FOOT

TOP ADJUSTABLE
CHANNEL

=

: BEUE EN
THIS DRAWING AND ALL KFORMATION CONTAMED HEREIN B THE PROPERTY OF BELOEN ANY LEE. COPY OR
REFRODUCTION OF THIS MATERIAL WITHOUT WRITTEN OF BELDEN IS FROHIBITED.
@1 LABEL EARTH GROUND} peran a XDR8419-3M62836
XDR RACK
APPROVED BY: DRAWING AUTHOR: jop
APPROVAL DATE:
@—EH— UNITS: INCH Sheet 1 of 7 |B T
[REV] DESCRIPTION | BY | DATE SCALE: 332 | DATE:2R72015 SUBMITTAL
4 | 3 2 I 1

Visit our website at www.Belden.com Page 3 of 7 02/03/15



http://www.belden.com/

INSTALLATION INSTRUCTIONS
FOUR POSTS ADJUSTABLE DISTRIBUTION RACK

You are now ready to assemble the Rack

The following tools are required for assembly of this rack:
o 9/16” Open End or adjustable Wrench
a Phillips Screwdriver
o Square

2 POST RIGHT

1 POST LEFT

2 POST RIGHT

2

; G
3 MOUNTING FU@
A
GROUND STUD
1]
C
TIHTE il AR A ST A NPT T TS T AT HFRFIS IR THE PRI FRR T 0 AT AW |, Ty
1w o Pl il 0 T B T AL ST T R TR P § Bl T B L s oS il T,
XDRAL19-IME2R36
R = REF DWG: N/A RACK DETAIL
e DESCRIPTION Z (%] MaTL: STEEL DRAWING AUTHOR: jop
= E| MATL THK : N/A
Dy e SO
MIUST BE DORE :IE_IHiI"-‘-I"-'I‘E'IF.FI.II IWARE | 1NLFER DTHFRWISE ‘@_E UNITS : INCH Sheet 1of1 [ A 43327876
FOR QUALITY CONTROL PURPOSES, SPECTFIED SCALE: 3732 DATE: 472015 -

1

Visit our website at www.Belden.com Page 4 of 7 02/03/15



http://www.belden.com/

INSTALLATION INSTRUCTIONS
FOUR POSTS ADJUSTABLE DISTRIBUTION RACK
i

INSIDE EDGE OF TOP ANGLE

1 LEFT POST

TOP EDGE OF MOUNTING FOOT

STEP -1
1=1
LOCATE TWO PAIR OF VERTICAL RAILS (ITEMS 1,2) PLACE THE RAILS
PARALLEL TO THE FLOOR
APPROXIMATELY 20" APART.
NOTE: GROLND STUD LOCATED AT THE BOTTOM, 10 MARK AT THE BOTTOM.

1-2

POSITION THE RACK TOP ANGLE (ITEM 4} BETWEEN RAILS, TOF AND ATTACH
LSING

38" WHIZ BOLT{ITEM 12).FINGER TIGHT PARTS, DO WOT TIGHTEN THE
HARCWARE THIS TIME.

1-3
ATTACH FOOT ANGLE (ITEM 3) TO THE BOTTOM OF LEFT AND RIGHT RAILS
USING 3/8 WHIZ BOLT (ITEM 12) DO NOT TIGHTEN HARDWARE THIS TIME,

1-4

POSITION A SQUARE ON THE TOP EDGE OF THE MOUNTING FOOT AND
SQUARE EACH VERTICAL RAIL TO THE MOLNTING FOOT.TIGHTEN WIZ BOLT
TO 25IN/LBS.

1-5

POSITION A SQUARE ON THE INSIDE EDGE OF THE VERTICAL RAIL, SQUARE
THE TOP ANGLE TO THE VERTICAL RAIL AND TIGHTEN THE WHIZ BOLT TO 25
INf LBS,

REPEAT STEP 1FOR REAR POSTS AND ANGLES

SELE

N

TH B DA KE ANDALL ISFORBATION CONTARED SEFER B THE PROPESTY OF BELDEN ARY LD COFYOR
PEGE VT O GF TH B LT EERAL YT HOL TWRETTTER P SR B CF BELDEE B PEOH TR

=

XDRE419-3IM62836

ASSEMBLY STEF1

APPROVED BY:
APPROVAL DATE:

DRAWING AUTHOR: jop

DESCRIFTION

| BY | DATE

@—E UNITS : INCH Sheetd of 7 |B

SCALE: 332 DATE: 22015

SUBMITTAL

3

2 I 1

STEP 2

2-1 ASSEMELY TOP ADMISTMENT CHANMEL (ITEM 10]
WITH TOF ANGLE-1 [ITEM 7)
AND TOP ANGLE-2 (TTEM B)
USING 10-32 MUTS (ITEM 13} @
FOSITION 15 ADJUSTABLE

1869
ADIUSTHMENT CHANNEL, REF.
21.76 REF E 1

POSITION SHOWWN FOR 26° DEEFP
RACK

STEP

31 ASSEMBLY BOTTOM ADIUSTHENT CHANNEL

{ITEM 8}
WITH BOTTOM AMGLE-1 (ITEM 5)
AND BOTTOM AMGLE-2 (TTEM &)
USING 1032 NUTS (ITEM 13)
POSITION 15 ADJUSTABLE

2.00TvPR

]

l——— 1EF9

BOTTOM ADIUSTMENT

CHANNEL.REF

22 00REF |

POSITION SHOWN
FOR 1" DEEF RACK

SECTION F-F

BEUE EN

XDRE419-IMGEIRIE

T AN AN AL S P LAY AR, W RN TR D PR PR B NN AN G RN R
FEFED [UETES OF THEE WATHERE STER L SEITTI L PRESEEE L O 00 00s B FERE BITRE.

=

ASSFEMALY STEP I-1

AFPROVED BY:
ATPRONV AT TIATE;

DRAWING ALTHOR: jop

sheet 5 of 7 | B

[mEV]

NESCRIPTION

[ mw

-@—Iﬂ- UNITS :  INCH

DATE SCALE: ] NATE; 33005

SUBMITTAL

4 I

Visit our website at www.Belden.com

3

Page 5 of 7

F] |

02/03/15


http://www.belden.com/

INSTALLATION INSTRUCTIONS
FOUR POSTS ADJUSTABLE DISTRIBUTION RACK

TOP ADIUSTMENT
B CHANNEL ASSY

CHANNEL ASSY

POSITION FOR STEP 4-5 w

STEP 4

ASSEMBLE TOP ANGLE (ITEM 4)TO TOP
ADIJUSTMENT CHANNEL ASSY(ITEMS 7-8-10-13)
AND POST WITH 10-32 SCREW (ITEM 14). AND
3f8 WHIZLOCK BOLT (ITEM 12) AS SHOWN

BOTTOM ADJUSTMENT

THIE DA il AND ALL MO AT iON COMTAMED F|
merrOoUs Ti0e Or TRIE MaTemaL T rOur mmTTes

BEUE

EREIN E TH
"

N

Py OF BELOEN 3
80 O BELDEN | B reilensmeD.

XDR8419-3M62836

ASSEMBLY STEP 4

APPROVED BY: DRAWING AUTHOR: jop
APPROVAL DATE:
@—E:} UNITS: INCH Sheet 6 of 7 [B T
[REV] DESCRIPTION | BY | pDATE SCALE: 332 | DATE 222015 SUBMITTAL
] I 3 2 | 1

CAUTION: 2 PEOPLE ARE REQUIRED TO RAISE ASSEMBLY TO VERTICAL POSITION.
ALL HARDWARE NEEDS TO BE ATTACHED AND TIGHTENED MIN 25 INCH/LBS

STERPS B
5-1ASSEMELE BOTTOM ADIUSTMENT CHANMEL
f| ASSY TO POST WITH  3/8 WHIZLOCK BOLT (ITEM
H 12) AS SHOWN,
 5-2 PUT KEP NUTS (ITEM 15)ON GROUND STUDS
; LOCATE ITEM (11) LABEL EARTH GROUNG
i WEAR EACH GROUND STUD
=t
A
XORE419-TMBIH36
— | REF WG, NiA
EE DESCRIFTION Z (%] mam.: STFFI NRAWING ALTHOR: jop
(= I S| MATL THE : niA
AITTHNC AT FHLATAIS VWL F LSV T1R VIS LA ALL T FLAME N FiA: A
T g R e VTS TS ATFTEARE |y e —@—E| LKITS: TNCH Sheet 1071 |A _,
U ULALITY [ THETRIN . P RFTSE R wErEmn SCALE 302 DATE 2472018 STEPS
2 dP. 1
Visit our website at www.Belden.com Page 6 of 7 02/03/15



http://www.belden.com/

INSTALLATION INSTRUCTIONS
FOUR POSTS ADJUSTABLE DISTRIBUTION RACK

NOTE: You have now assembled your XDR Series Four Post adjustable Rack and are ready to continue to
anchor your rack securely to the floor

4 3 T 2 1
7 \
"hh.M
: ]
SECTION L-L ——
) L * —r— FL
8 | HARDWARE HAS
TO BE TIGHTENED
; MIN 25 INCH/LBS
HARDWARE HAS
TO BE TIGHTENED :
DETAIL M R
MIN 25 INCH/LBS 1.27—8 e
3.00— | h
= L L
= ol
-+ H !
[+ H [ l
i | !
: )
: .
_B :E \\\ n’/
i T
& DETAIL N
22.00 REF 7
j=- 22,00 'K |-
22 Ts: T H i ;2 Ll N
‘...|...l~t . i T gt I |
SIDE VIEW e do25—] -
i 40.00 MIN
’-7--.-..-_0['.- RFF4-| -
. . J FRONT VIEW SECTION 1-1
-[4- - | -4- - 4] e
=
A =
S W B o T R e P el
T 50— \_gas e XDR8419-3M62836
37.50 DETAILS
BOTTOM VIEW APPROVED BY: DRAWING AUTHOR: jop
APPROVAL DATE:
@—E:} UNITS : INCH Sheet7 of 7 [B
[REV] DESCRIPTION | BY | DATE SCALE: 332 | DATE: 222015 SUBMITTAL
I T 2

3 I 1

Anchoring Hardware should be a minimum of 5/8” diameter

Important Note: The distribution rack system should be anchored securely to the floor.
Due to building code and substrate variations we do not supply the anchoring hardware.
Qualified personnel knowledgeable of local code should ONLY perform anchoring of this rack.

Grounding Stud
Four, 1/4-20 X 3/4” long Grounding Studs are provided centered inside the left and right frame channels at
a location approximately 2.5” up from the bottom A 1/4-20 hex nut with a captive external tooth lock
washer (Part Number 94088) is provided for attachment of the ground lug (not supplied).

The hex nut assembly is used to secure the ground lug in place.

Equipment Installation

Your Distribution Rack is provided with four mounting rails with .375" Sq. holes. Your rail EIA rack units are
marked for ease of panel and equipment alignment from rail to rail on the front and rear flanges.

(80) Mounting hardware provided.

You can now install your equipment

Visit our website at www.Belden.com Page 7 of 7 02/03/15



http://www.belden.com/

	You can now install your equipment

